Engineers Estimate \$260,000 November 20, 2013

SAK CONSTRUCTION, LLC - O'FALLON, MO

ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	MOBILIZATION	1	LS	\$20,000.00	\$20,000.00
2	CONSTRUCTION SIGNS/TRAFFIC CONTROL	1	LS	\$2,000.00	\$2,000.00
3	PIPELINE VIDEO INSPECTION	1	LS	\$6,100.00	\$6,100.00
4	DISPOSAL OF CURING WATER TO EXISTING EFLUENT STORAGE POND	1	LS	\$2,500.00	\$2,500.00
5	CLEANING OF PIPES AND MANHOLES	1	LS	\$14,300.00	\$14,300.00
6	REHABILITATE 36-INCH SEWER PIPE	1,900	LF	\$105.00	\$199,500.00
7	DEMOBILIZATION	1	LS	\$2,500.00	\$2,500.00
TOTAL BASE BID					\$246,900.00

Engineers Estimate \$260,000 November 20, 2013

MICHELS CORPORATION DBA MICHELS PIPELINE CONSTRUCTION - SALEM, OR

ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	MOBILIZATION	1	LS	\$5,869.00	\$5,869.00
2	CONSTRUCTION SIGNS/TRAFFIC CONTROL	1	LS	\$295.00	\$295.00
3	PIPELINE VIDEO INSPECTION	1	LS	\$3,930.00	\$3,930.00
4	DISPOSAL OF CURING WATER TO EXISTING EFLUENT STORAGE POND	1	LS	\$500.00	\$500.00
5	CLEANING OF PIPES AND MANHOLES	1	LS	\$13,878.00	\$13,878.00
6	REHABILITATE 36-INCH SEWER PIPE	1,900	LF	\$120.50	\$228,950.00
7	DEMOBILIZATION	1	LS	\$1,550.00	\$1,550.00
TOTAL BASE BID					\$254,972.00

Engineers Estimate \$260,000 November 20, 2013

INSITUFORM TECHNOLOGIES, LLC - CHESTERFIELD, MO

ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	MOBILIZATION	1	LS	\$6,145.60	\$6,145.60
2	CONSTRUCTION SIGNS/TRAFFIC CONTROL	1	LS	\$1,100.00	\$1,100.00
3	PIPELINE VIDEO INSPECTION	1	LS	\$4,052.60	\$4,052.60
4	DISPOSAL OF CURING WATER TO EXISTING EFLUENT STORAGE POND	1	LS	\$1,100.00	\$1,100.00
5	CLEANING OF PIPES AND MANHOLES	1	LS	\$14,315.80	\$14,315.80
6	REHABILITATE 36-INCH SEWER PIPE	1,900	LF	\$144.30	\$274,170.00
7	DEMOBILIZATION	1	LS	\$6,250.00	\$6,250.00
TOTA	L BASE BID	\$307,134.00			

Engineers Estimate \$260,000 November 20, 2013

REPIPE CALIFORNIA INC - RIVERSIDE, CA

ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	MOBILIZATION	1	LS	\$10,000.00	\$10,000.00
2	CONSTRUCTION SIGNS/TRAFFIC CONTROL	1	LS	\$2,450.00	\$2,450.00
3	PIPELINE VIDEO INSPECTION	1	LS	\$4,278.00	\$4,278.00
_ /	DISPOSAL OF CURING WATER TO EXISTING EFLUENT STORAGE POND	1	LS	\$1,000.00	\$1,000.00
5	CLEANING OF PIPES AND MANHOLES	1	LS	\$15,111.00	\$15,111.00
6	REHABILITATE 36-INCH SEWER PIPE	1,900	LF	\$151.75	\$288,325.00
7	DEMOBILIZATION	1	LS	\$5,000.00	\$5,000.00
TOTAL BASE BID					\$326,164.00

Engineers Estimate \$260,000 November 20, 2013

CALIFORNIA TRENCHLESS, INC - DUBLIN, CA

ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	MOBILIZATION	1	LS	\$20,000.00	\$20,000.00
2	CONSTRUCTION SIGNS/TRAFFIC CONTROL	1	LS	\$7,500.00	\$7,500.00
3	PIPELINE VIDEO INSPECTION	1	LS	\$20,000.00	\$20,000.00
4	DISPOSAL OF CURING WATER TO EXISTING EFLUENT STORAGE POND	1	LS	\$15,000.00	\$15,000.00
5	CLEANING OF PIPES AND MANHOLES	1	LS	\$80,000.00	\$80,000.00
6	REHABILITATE 36-INCH SEWER PIPE	1,900	LF	\$255.00	\$484,500.00
7	DEMOBILIZATION	1	LS	\$5,000.00	\$5,000.00
TOTAL BASE BID					\$632,000.00